Sol\pw)ﬁ’_Ol\(S ~» Maximum Height & Maximum Area,

I h(k) = -5¢*+50¢
L Y = -5t¢*+ 50t

To find the maximum height gou need
+c “Complete the s umre and detecmine the

"y" value of the yertex

N = -5(t*iot)
vrlas= =5 (t1—10t+2*’)
= -5 (+-5)* 'T]hereﬁxe. the,

y —JQJ b
\/ = -5 (t-5)*+ 195 aXmum h& ht
of the scccer
Vertex (5,135) ball 15 123m (C)

m\; Htuhmcu‘f\ Hei jH'

3. hit) = -2+ 20t
Ly = -2ti+20t

When tHhe rocket hits ﬂf\a %rumd it
has a hilg\’\'i' of Zevro

L 0= -2t*+20t
T we facter g

Q= -2t (+-10)
Either -2t=0 or +t-io=

P e U NN

Alternate
Methods ©
oAt

1) Substitute
answers inte
equation and
Sce wWhich
one “works"

-ZAt=0 +-10=0 2) Use Grqp\nr}s
A4 2 t=10 Caleulator to
+t=0 find the "Z,CFQ

A Tal =TT P

+=0 when +he rocket is launched , therefore
+ =10 when it returns 4o +the L]rgund (D)

2. h=-TtreNzt
Ly ==-T7t*ryrt

To Find out how many Secends 11 takes
+o rtugh The maximun lr\eujhf ou need
o ‘complete r‘lt}-\ are hd dﬂ‘\'ﬁ”‘mnc
the "x" Value: of -t e vertex .

N = -7 (t-et)
—63= ~T(t*-t+9)

\/-53 =7 (k- 3)’” MThereforesit
Y = ~T(£-3)"+ 63 +rok +the qoif

. ball 3 seconds
Vertex (\'E e3) 4¢ reach the
'Tijn'\g. '-Lm“"flum

W‘[Q'Xim‘um he |SH+V
Reighvt. (A

Moo= o3 248t 4

Te determine hew high the rocket is after
2 second:sj Substitute (£=2) inte the
€(LLLQ+|C|1 and  Sclve -

h=-302)"+ 24(2)+|
W= -3(H) + NS+
h = —-12+49

h = 37

There fore , the vocket
is 37 m high after
L seconds



Hoom ofF fencing = Pﬁrlmc\'crzk,‘(_\o

S h =83t 4t S L
e | , ' % Lt X = Widh,
ihe ba\l 1s Kicked From +he balceny at LS =
time zere (£=0). Then H00-2% = lenafh, .
400-2% i
r— . L= X W
Thevrefore \:y sSubstituhng +=0 intc the \Area - -
€quaten we can determine the intial = (Hoo=2x)(x) ()
height of +he ball (= +he kt.__(jh+ of the HO0-%.
ba (.c.n\/) o 800m of Fencing=>Perimeter= 80O
h= -3+ 24(+5 Therefare, the X — het = W‘_CH-\M
h= O+0+5 balcon y Ie 5 m . Then 5@5:&2(* len&-H\
h=5m off of the ground o
9 Moo-x = lengthy,
Uqrfd.

= Adxw
= fooo~o<)(o<) (2

8. ‘ 900 m of Fth(ug:> Perimeter = 900
~x % x
Let A= width
Then 900 -3%= ienﬁ-\-h
F\\':(; =0 xw

A = (G00-a3x )(x)
ory= Ca00-3x)(x)

rs)
lo “de+crmme_ +he maxmum areas you need
to "Complete the squore ”

= (900-3xx)
= oo ¥ -3x*
(:r\/ \f = =3X*+G00% GF)
\4= -3(x*-300x)
-6 5c0= -3 (A*-300 %+ 2L 500)

ngw 500=-3(x-150)%
= -3(x—-150)" + 67 500 (SF)

y ="
Vertex (50, 673500)
5 Gidth & maximum,area
T/ e_rt'\ccch +he maximum. area of +he
‘?|SUrc is Gt3500 m*
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